Ef~m hHlex 1SO 9001:2015

VH2V £ 55 E Bk i@

VH2V Series High Pressure Ball Valve JEECEE @IS pN DNLWRA dl i L L1 B L2 hl h2SWLSW2 D h3
VH2V-M16x15 500 06 06 11 M16x1.5 11 69 40 26 315 13.5 35 09 22 45 438
=Ry M
e BISiREE Model Code d1 VH2V-M27x15 500 10 10 20 M27x15 12 76 42 32 315 16 40 09 27 53 58 e
i VH2V-G3/8-10 -1111-01-1 RA VH2V-M36x2 400 20 20 30 M36x2 15 103 60 50 485 23 58 12 41 65 6 b
1 2 3 4567 8 9 LW VH2V-M42x2 350 25 23 35 M42x2 18 116 65 57 505 285 65 12 50 85 7
. LEFKLS : VH2VES ; ! ) SW2 .
e ERERE M G** **LR. **SR. PT** NPT**; - , o d
i 3AFRIER : 06, 10, 13, 16, 20, 25; rriTa el
§ o AR, M 1-45#, 3-316 RN LB AIBIBA-TTHRA Iy
¢ 18] SIS, @BiRE : 1-45#, 3-316 RN ; R e ; B¢
. 6. IREFE} - 1-POM (REEE) | 2-PTFEGRIRIIE) G e (Pbm DNLW RA dl i L L1 B L2 hl h2SW1SW2 D h3 o
7 Bk SEZAM@YL Bt 0 1-NBR(TRSIREL ) . 2-FPM/FKM&EBE ) ;
£IE ’ > ) - VH2V-G1/4 500 06 06 G1/4 14 69 40 26 31.5 135 35 09 22 45 48 I
s i@ 8 FiEfR:01-CREFSSMFM . 02-BEIFSSHITFIKH. 03-BEUFNHEIFIR. 09-FHFH ; di — (ZE
e 0 S EAME 1 = 2 A VH2V-G3/8 500 10 10 _— G3/8 14 72 42 32 315 16 40 09 27 53 58 -
glg B . m /== ' =S o LW SW2 Q%
;ﬁ% £ EHES IR R E AR, VH2V-G 1/2 500 13 13 / G1l/2 16 83 48 35 385 18 45 09 30 6.5 6 %g
. HHILIIAERES , PTFEMFHERN RE TIFEAEZ100bar : = VH2V-G3/4 400 20 20~ G3/4 18 93 60 50 485 23 58 12 41 65 6 -
5 HeHHAGRENAFEN ) . , - /.1 ; [I/ VH2V-G 1 350 25 25_~ G1 21 115 65 57 505 275 65 12 46 85 7 8
,% 1 Series Code:VH2V Series i VH2V-G11/4 350 25 25 _~— G11/4 22 121 65 57 44 275 65 12 55 63 6 ,%
g B 2.Joint Code:G**, M**_ **LR_ **SR, PT** NPT**; VH2V-G11/2 350 25 25 _~ G11/2 24 126 65 57 44 275 65 12 60 63 6 e
s 3.Nominal Diameter:06, 10, 13, 16, 20, 25; s
: 4.Valve body/joint material:1-carbon steel, 3-316 stainless steel
g 5.Ball body/ Valve stem material:1-carbon steel, 3-316 stainless steel g
g 6.Ball sealing material:1-POM 2-PTFE il = i ]
*E 7.Sealing material(Sealing material of joint/valve stem):1-NBR 2-FPM/FKM NPT(PT) rﬁBrﬂngod:I5 (Pbem DN LW RA d1 I L L1 B L2 hl h2SW1SW2 D h3 @17
5 i 8.Handle Type:01-C type zinc alloy crooked handle 02-B type zinc alloy crooked handle 5
= 03-B type casting steel crooked handle 09-without handle VH2V-NPT1/4 500 06 06 — NPT1/4 14 69 40 26 315 13.5 35 09 22 4.5 4.8 eH
9.Surface Treatment:1-SILVER ZINC PLATED di VH2V-NPT3/8 500 10 10/ NPT3/8 14 72 42 32 315 16 40 09 27 53 538
PS:The Material Pressure parameters corresponding to the productis carbon steel. LW
g 1111 is the normal mix ,the PN no more than 100bar when using PTFE. SW2 VH2V-NPT1/2 500 13 12 / NPT1/2 16 83 48 35 385 18 45 09 30 65 6 £
f;fi (other specifications please contact us) NS VH2V-NPT 3/4 400 20 20/ NPT3/4 18 95 60 50 485 23 58 12 41 6.5 6 ;f:;f
T - | VH2V-NPT1 350 25 25_— NPT1 21 113 65 57 50.5 27.5 65 12 46 85 7 2
- B 2495 Hydraulic Schematic > -
5 I y . . . = ) R
‘= 9MEZR overall Dimension LR MEES PNDNLWRA dl i L L1 B L2 hl h2SW1SW2D h3
. ar, °
L " VH2V-08LR 500 06 06 08 M14x15 10 66 40 26 31.5 135 35 09 22 4.5 4.8
. L2401 SW1 i VH2V-10LR 500 08 08 10 M16x1.5 11 74 42 32 315 16 40 09 27 53 58 .
=k " VH2V-12LR 500 10 10 12 MI8x15 11 74 42 32 315 16 40 09 27 53 58 -
oY VH2V-15LR 500 13 12 15 M22x15 12.583 48 35 385 18 45 09 30 6.5 6
2-0D o SW2 VH2V-18LR 500 13 12 18 M26x15 12 82 48 35 385 18 45 09 30 65 6
) —\ , N sw2 VH2V-22LR 400 20 19 22 M30x2 14 101 60 50 485 23 58 12 41 6.5 6 e
%é Q ' - = VH2V-28LR 350 25 25 28 M36x2 14 108 65 57 50.5 27.5 65 12 46 85 7 %
3 & s
g — + - 4 + SR 2 MEZS PNDNLWRA dl i L L1 B L2 hl h2SWLSW2D h3 |
B 1 ar, &
y - RA VH2V-10SR 500 06 06 10 M18x15 12 73 40 26 31.5 135 35 09 22 4.5 438
N— < LW VH2V-14SR 500 10 10 14 M22x1.5 14 80 42 32 315 16 40 09 27 53 58
\ ) \% VH2V-16SR 500 13 13 16 M24x1.5 14 86 48 35 385 18 45 09 30 6.5 6
i [ sw2 VH2V-20SR 500 13 12 20 M30x2 16 90 48 35 385 18 45 09 30 6.5 6
L1 LW —=—A VH2V-25SR 400 20 20 25 M36x2 18 109 60 50 485 23 58 12 41 65 6
VH2V-30SR 350 25 25 30 M42x2 20 120 65 57 505 27.5 65 12 46 85 7
B

Bolev WWW.BOLEV-HYDRAULICS.COM




